Задача № 

Дано:                               Си:                         Решение:
 =0,0635                                      N=[image: \nu]NА
= 9000                                          [image: \nu]=
V= 1 м3                                                               m=𝞺*V
ṄА=6,02*1023моль-1                                     N=
                                                     N=9000*1*6.02*1023  -   8.5*1028                          
                                                                 0.0635
Ответ: в 1 м3 меди содержится 8,5*1028 атомов.
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